多項式減法

(一)小心計算下列各題,在橫線上填上答案:

	1.
	17  –6  =      
	11.
	27  –9  –9  =      

	2.
	56  –72  =       
	12.
	22  –25  –6  =        

	3.
	16
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	13.
	[image: image13.wmf]3   –9    –5   =       

	4.
	9x  –5x  =       
	14.
	34x  –4x  –3x  =     

	5.
	15y  –26y  =       
	15.
	53y  –40y  –19y  =     

	6.
	9xy  –xy  =      
	16.
	5x2  –5x2　–5x2  =      

	7.
	41y2  –29y2  =     
	17.
	62y2  –8y2  –12y2  =     

	8.
	56x2y  –60x2y   =        
	18.
	8xy2  –13xy2  –16xy2  =      

	9.
	60xy2  –42xy2  =     
	19.
	42x2y  –2x2y  –27x2y  =       

	10
	42x2y2  –60x2y2  =      
	20.
	63x3y  –9x3y  –25x3y  =       


(2) 橫線上填上答案,使等式成立:

	1.
	74  –15  –      = 2
	5.
	5xy  –      –6xy  = –5xy

	2.
	50
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	6.
	8y2  –y2  –      = –y2

	3.
	15a2b  –6a2b –     = 4a2b
	7.
	8x  –x  –      = –10x

	4.
	      –8x2y2  –8x2y2  = 0
	8.
	11y  –       –5y  = –2y


多項式減法（答案）
(一)小心計算下列各題,在橫線上填上答案:

	1.
	17  –6  =  11  
	11.
	27  –9  –9  =  9  

	2.
	56  –72  =  –16  
	12.
	22  –25  –6  =  –9   

	3.
	16
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	13.
	3   –9    –5   = –11   

	4.
	9x  –5x  = 4x  
	14.
	34x  –4x  –3x  = 27x 

	5.
	15y  –26y  = –11y   
	15.
	53y  –40y  –19y  = –6y 

	6.
	9xy  –xy  = 8xy 
	16.
	5x2  –5x2　–5x2  = –5x2 

	7.
	41y2  –29y2  = 12y2
	17.
	62y2  –8y2  –12y2  = 42y2 

	8.
	56x2y  –60x2y   = –4x2y   
	18.
	8xy2  –13xy2  –16xy2  =  –21xy2   

	9.
	60xy2  –42xy2  = 18xy2
	19.
	42x2y  –2x2y  –27x2y  = 13x2y  

	10
	42x2y2  –60x2y2  = –18x2y2  
	20.
	63x3y  –9x3y  –25x3y  =  29x3y  


(3) 橫線上填上答案,使等式成立:

	1.
	74  –15  –  57  = 2
	5.
	5xy  –  4xy   –6xy  = –5xy

	2.
	50
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	6.
	8y2  –y2  –  8y2  = –y2

	3.
	15a2b  –6a2b –  5a2b  = 4a2b
	7.
	8x  –x  – 17x  = –10x

	4.
	 16x2y2    –8x2y2  –8x2y2  = 0
	8.
	11y  –  8y   –5y  = –2y


